			ΤL				
	NEF	PTUNE INFR	ASPA	CE PV	T.LTD.		
NEPTUNE	CAMPUS, NEAR ATLAN Ph.No	TIS HEIGHTS, DR.VIKRA 0.0265-2350630 39 Web				GUJARAT-390007	
			k orde				
WO No.	49			SHIP TO:			
WO Date:	07/10/2022			NEPTUN	E INFRASPACE PVT. L	.TD.	
Contractor Name	MAA ASHAPURA				OODS AARANYA		
Address:	DUMAD , VILLAGE D	UMAD -VADODARA		Aspire, N	ods Aaranya, B/S Gre leptune Campus, Dr V bhanpura, Vadodara,	'ikram Sarabhai	
Contact No	9033248303	9033248303		WO Title	,		
PAN:							
GST :				GST No:	24AADCN1428R12	17 Gujarat	
	blacing with you our W given by our site incha		wing contra	ict kindly e>	ecute the work		
Sr.No	Item Description		Qty	Unit	Rate Rs.	Amount	GST %
Spc.							
-							
Spc.							
-							
Spc.							
-							
Spc.							
-							
Spc.							
Spc.							
-							
Spc.							
-							
Spc.							
Spc.							
-							
Spc.							
Spc.							
-							

We have pleasure in placing with you our Work order for the following contract kindly execute the work
as per the instruction given by our site incharge.
Spc.
Spc.
Spc.
Spc.
Spc.
Spc.

We have pleasure in placing with you our Work order for the following contract kindly execute the work
as per the instruction given by our site incharge.
Spc.
Spc.
Spc.
Spc.
Spc.
Spc.

We have pleasure in placing with you our Work order for the following contract kindly execute the work
as per the instruction given by our site incharge.
Spc.
Spc.
Spc.
Spc.
Spc.
Spc.

	have pleasure in placing with you our Work order for	the following cont	ract kindl	y execute the work			
-	per the instruction given by our site incharge.						
Spc.							
Spc.							
Spc.							
Spc.							
spc.							
_							
Spc.							
67	TOWER D 101 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF MAIN DOOR	1.00	FLAT	8480.00	8480.00	18	%
	FRAME (FLAT)						
68	TOWER D 102 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF MAIN DOOR	1.00	FLAT	8480.00	8480.00	18	%
	FRAME (FLAT)						
69	TOWER D 102 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	%
Spc.							
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
70	TOWER D 102 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	%
	DOOR (NOS)						
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						
71	TOWER D 102 CARPENTRY WORK						
,,		(00	NOC		E7020.00	40	0/
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	%
Spc.	DOOR (NOS)						
Jhc.	bathroom door size: 31" x 92" 35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						

72	TOWER D 201 CARPENTRY WORK						
-	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)	0.00	1105	7505.00	57050.00	10	
pc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
73	TOWER D 201 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
74	TOWER D 201 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
75	name plate = 18mm ply and veneer TOWER D 201 CARPENTRY WORK						
5		4.00	FI 4T		0.400.00	4.0	
	SUPPLY & INSTALLATION OF MAIN DOOR	1.00	FLAT	8480.00	8480.00	18	
76	FRAME (FLAT) TOWER D 202 CARPENTRY WORK						
0					0.400.00		
	SUPPLY & INSTALLATION OF MAIN DOOR	1.00	FLAT	8480.00	8480.00	18	_
77	FRAME (FLAT) TOWER D 202 CARPENTRY WORK						
		1.00	NOC	20002.00	20002.00	40	
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
spc.	Main Door Size: 43" x 92"						
-	35mm door						
	4mm veneer ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	1 3 1 3						

70							
78	TOWER D 202 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
pc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock ss magnate						
	12mm bidding patti						
79	TOWER D 202 CARPENTRY WORK						
		6.00	NOC		E7030.00	10	
	SUPPLY & INSTALLATION OF INTERNAL DOOR (NOS)	6.00	NOS	9505.00	57030.00	18	
pc.	bathroom door size: 31" x 92"						
pc.	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
30	TOWER D 301 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						_
pc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
31	TOWER D 301 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
pc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
32	TOWER D 301 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF MAIN DOOR	1.00	FLAT	8480.00	8480.00	18	
	FRAME (FLAT)						
33	TOWER D 301 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
pc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling For panelling						
	ror panetting 12mm ply panetting						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						

84	TOWER D 302 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	%
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
0 F	name plate = 18mm ply and veneer						
85	TOWER D 302 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF MAIN DOOR FRAME (FLAT)	1.00	FLAT	8480.00	8480.00	18	
86							
00	TOWER D 302 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
07	12mm bidding patti						
87	TOWER D 302 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
_	DOOR (NOS)						
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
38	TOWER D 401 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
•	DOOR (NOS)						
spc.	bathroom door size: 31" x 92"						
	35 mm door						_
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						

0							
9		4.00	NOC	20002.00	20002.00	40	
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
pc.	Main Door Size: 43" x 92" 35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
0	name plate = 18mm ply and veneer						
J	TOWER D 401 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL DOOR (NOS)	4.00	NOS	11040.00	44160.00	18	_
oc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
1	TOWER D 402 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
oc.	bedroom door size: 36" x 92"						
	35 mm door 0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
2	TOWER D 402 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
oc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling 4mm veneer as per selection						
	name plate = 18mm ply and veneer						
3	TOWER D 402 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						
oc.	bathroom door size: 31" x 92"						
	35 mm door						

us F	er the instruction given by our site incharge.						
94	TOWER D 501 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						
pc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock ss magnate						
	12mm bidding patti						
95	TOWER D 501 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
pc.	Main Door Size: 43" x 92"						-
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection name plate = 18mm ply and veneer						
96	TOWER D 501 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						
97	TOWER D 502 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)	4.00	NUS	11040.00	44160.00	18	-
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
98	TOWER D 502 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	_
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate 12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						

99	per the instruction given by our site incharge. TOWER D 502 CARPENTRY WORK						
,,		(00	NOC		57020.00	40	
	SUPPLY & INSTALLATION OF INTERNAL DOOR (NOS)	6.00	NOS	9505.00	57030.00	18	
Spc.							
spc.	bathroom door size: 31" x 92" 35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
100	TOWER D 601 CARPENTRY WORK						
100		(00	NOC		57000.00	4.0	
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
~	DOOR (NOS)						
Spc.							
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
101	12mm bidding patti						
101	TOWER D 601 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
102	TOWER D 601 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
103	TOWER D 602 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
Spc.							
-	35 mm door						
	0.9mm taminate						
	europa mortise lock						
	ss magnate						
	ss magnate 12mm bidding patti						

104	TOWER D 602 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
105	name plate = 18mm ply and veneer TOWER D 602 CARPENTRY WORK						
105		(00	NOC	9505.00	57020.00	40	
	SUPPLY & INSTALLATION OF INTERNAL DOOR (NOS)	6.00	NOS	9505.00	57030.00	18	
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
106	TOWER D 701 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						
107	TOWER D 701 CARPENTRY WORK						
107	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"	1.00	1105	30703.00	50705.00	10	
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
108	TOWER D 701 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
Spc.	DOOR (NOS) bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm taminate						
	europa mortise lock						
	ss magnate						

	per the instruction given by our site incharge.						
09	TOWER D 702 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
pc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						
10	TOWER D 702 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
pc.	Main Door Size: 43" x 92"		1105		30703.00		
r - ·	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
11	TOWER D 702 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL DOOR (NOS)	6.00	NOS	9505.00	57030.00	18	
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
12	TOWER D 801 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						
spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
13	12mm bidding patti TOWER D 801 CARPENTRY WORK						
13	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"	1.00	1105	56765.00	50703.00	10	
•	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling 12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						

114	TOWER D 801 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)		1105	1101000	11100.000		
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
115	TOWER D 802 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)		1105	1101000	11100.000		
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
116	TOWER D 802 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Snc				20702.00	56765.66		
spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate 12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
117	TOWER D 802 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)	0.00	1105	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	57050100		
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
118	TOWER D 901 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)	0.00	1105	/303.00	57050.00	10	
Spc.	bathroom door size: 31" x 92"						
•	35 mm door						
	0.9mm taminate						

	er the instruction given by our site incharge.						
119	TOWER D 901 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	%
Spc.	Main Door Size: 43" x 92"						
	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
120	TOWER D 901 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	9
	DOOR (NOS)	4.00	1103	11040.00	44100.00	10	,
Spc.	bedroom door size: 36" x 92"						
ope.	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
121	TOWER D 902 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	9
	DOOR (NOS)						
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
-	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
122	TOWER D 902 CARPENTRY WORK						
	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	9
Spc.	Main Door Size: 43" x 92"						
	35mm door						
-	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						
123	TOWER D 902 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	9
~	DOOR (NOS)						
Spc.	bathroom door size: 31" x 92"						
	35 mm door						
-	0.9mm laminate europa mortise lock						

as p	er the instruction given by our site incharge.						
124	TOWER D 1001 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	6.00	NOS	9505.00	57030.00	18	
	DOOR (NOS)						
spc.	bathroom door size: 31" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate 12mm bidding patti						
25	TOWER D 1001 CARPENTRY WORK						
25	LABOUR FOR MAIN DOOR (NOS)	1.00	NOS	30903.00	30903.00	18	
Spc.	Main Door Size: 43" x 92"						_
•	35mm door						
	4mm veneer						
	ss magnate						
	12mm bidding patti						
	wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection name plate = 18mm ply and veneer						
26	TOWER D 1001 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)						
spc.	bedroom door size: 36" x 92" 35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
	12mm bidding patti						
27	TOWER D 1002 CARPENTRY WORK						
	SUPPLY & INSTALLATION OF INTERNAL	4.00	NOS	11040.00	44160.00	18	
	DOOR (NOS)			-			-
Spc.	bedroom door size: 36" x 92"						
	35 mm door						
	0.9mm laminate						
	europa mortise lock						
	ss magnate						
20	12mm bidding patti						
28		1.00	NOC	20002.00	20002.00	40	
Spc.	LABOUR FOR MAIN DOOR (NOS) Main Door Size: 43" x 92"	1.00	NOS	30903.00	30903.00	18	_
РС1	35mm door						
	4mm veneer						-
	ss magnate						
	12mm bidding patti wooden handle 2 nos						
	frame jam patta + architect patti						
	with 93" x 27" panelling						
	For panelling						
	12mm ply panelling						
	4mm veneer as per selection						
	name plate = 18mm ply and veneer						

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge. 129 **TOWER D 1002 CARPENTRY WORK** SUPPLY & INSTALLATION OF INTERNAL 6.00 NOS 9505.00 57030.00 18 % DOOR (NOS) Spc. bathroom door size: 31" x 92" 35 mm door 0.9mm laminate europa mortise lock ss magnate 12mm bidding patti 130 COMMON MISCELLANEOUS WORK LABOUR FOR DOOR FRAME (NOS) 2.00 NOS 1500.00 3000.00 18 % Spc. FOR COMMON TOILET WORK COMMON MISCELLANEOUS WORK 131 LABOUR FOR LAMINATED DOOR (NOS) 2.00 NOS 2500.00 5000.00 18 % Spc. FOR COMMON TOILET WORK

Contract Amount (A)	2568647.00
Total GST (B)	462356.46
Total (A + B)	3031003.46

Terms & Conditions

SAFETY TERMS

1) Work Compensation (WC) Policy is a must for every contractor.

2) Required all their laborers Aadhar card copy and Passport size Photo.

3) All PPES in Contractor Scope.

4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.

5) Every Quarterly they must submit a service report of their respective machines to the site incharge.

6) Contractor has to maintain enough lighting during night work at site.

7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms

* All responsibilities of goods during transportation and unloding at site by supplier and vendors.

* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd.

At project site office officialy.

* Biling amount should not exceed the rate and total value mentioned in this WO.

* Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE INFRASPACE PVT. LTD.

Authorized Signatory